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Question 1

QIO 2oboMEHGds: 30693530308 JOMOMOE 53M(35065L FoMTmoygbL -

Select one:

a. Lbgyarol gossa0gdol AsBLsBZMs MmOl Bydoldogem dmdgbEdo

b. Ubgmeol 3egds®gmdol geblsbrg®s LogMEgdo OMOL 6xdoLAogH dmIgx6EHB0
C. bbgweol dmd®smdol dglfogers

d. bbgmeol 25@000a0wgdol qgLfagans

Question 2

3LOMEgm 2obdoMmEgds: sm3wol Lbgmemow 30MHMmdoms© d90degds
aobgzobowmm bbgmmo, ————-— :

Select one:

a. ®mIol JodsOmmsg Fobobowgds bgs Lbgmergdols ImdGmomds

b. ®mdgeoE ImdGHomdl dOhmfoch by

C. ®MI90o3 ImdOsmdl sBJsMd00m

d. ®mIwol 30dsGmog ¥dMsgos bbgs Lbgmwgdo

Question 3

F983560@05 v 330096M0:
#5030 IdOMmd0L BoBRJsMOL LoOY OOl dsbdoerols Fomdmgdyenls
©OHMO”".
Select one:
True
False

Question 4

3999150599 6300 IMIMSMOOL EOHML oM EHool Jobslosmydgero
fo®omo Loowggdo (5:V: &r) 3mmby® LoEoE I dL:

S Answer 1| cmose- -
v Answer 2] hoose- -]
il Answer 3| Choose... j

Question 5


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s%2Cv%2Ca_%5Ctau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_%5Ctau
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LM EBMOS© 3gomo Bbgmwolb y3gws Hgm@EHowol ®osob-39J@meo
QOMOL 9gOHDLS s 08539 995¢0gd0 9MMO s 0039 3Mbom

3900696005, sdoGH™I  3MbmMo LobdsMg Lbgmemols dGHwE30L
doMH0mMO0 3069353039600 Foboslosmgdgeros.

Select one:
True

False

Question 6

AsLomS 9@OEH0MOMBOL 30063030l Mobsbdo, MHMIgeros LMo
296356 F 900!

Select one:

a. bbgmyarms LobiEgdol dsbs Gmaos dsligdols xsdols

b. bLbgmms LobEHYAoL Bsbd GHMEOos Goe3gee bbgmams dsligdol xsdol
C. bbgmwms Lol@gdob dsbs dgEos zozger Bbgmems dsligdols xsdby

d. Lbgmmoms LobEgdol dsbs 653¢9800 Goa3gme Lbgrmwms dsbgdol xsd%bg

Question 7

0BM0©0o LoliEgdol dsbs:
Select one:

a. 3w9ds@0d

b. 56 ogzwgds

C. DO

d. 33wo©oo

Question 8

130D037M0 LoOY, HMIgoE FoMdmoabl Lbgmwol 0bgdEowwo s

3653035300 M30590900L BMAsl SMOU:
Select one:

a. fmbs

b. dsms

C. 3sbo

d. Lohgstr

Question 9
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QO 2ob3sMEHgds: 6gdoldogmo m®o M1 s M2 dsbol bLbgremols
396399m 5MOLgdMOL FoBJOH0sMO 456M93M, LoIE 3L 0BgbL
d0D0MEmdoL dogrgdol dmddggds. 53 doGgMose 356M90ml ghmegds --

Select one:

a. 9gddOIwo gowo

b. 9@addOmbGGe3gO0 9o

C. 353bo@wmo 39w0

d. 9M930¢)930W0 39W0

Question 10

F9035600@05, 009 3300 ymzggwro M dsbol Lbgeols 4560m390m sOLYOMBL
3539605 MO0 45699, IOl LT ISGOOMS3 MM 30D
MOH»09OHJd900905 Bbgmegdls ImEob. 53 490M9dmb 9fim@gds 3093039300

3JLO-

Select one:
a. 39935600305
b. dgwsos

Question 11
F983560@05 v 330096M0:

#6050l bobmbols dogws ymzgammzgols 30856Mmveros dmdmomdol
Bofobosmdgam© s 0f393L bbgeol Bo®EMdomo LoBdsol 89930M9dsL" .

Select one:
True
False

Question 12

3905 oI szMOL GOHNIMEO (ST) 9GNS BogOHMSTMMOLM
LobGHgdsdo?

Select one:
a. 35¢0
b. 8.%0
C. bom@mbo

d. xmememo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%28SI%29%7D
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€. obo
f. 960
Question 13
doegdl, HMIgEms F99domds IIMIO0IOINO 56 SMHOL ABOL BMMI>y
5653mbLYMZE0 doegdo 9fmgds.
Select one:
True

False

Question 14
3539605 F9OEH0wms LoLEgdoL (394560390 LoLEHgdolL) 9bgeos sSGOL
LoLEgdoL (dmbBod6gm 2 35Lwbo):

Select one or more:

a. 9yMdoMgmdol gmbdzos

b. 9m3G5md0L MomgbmdHogo bmds
C. 3965fogdols gmbdszos

d. 8pamdsHgmdol Bmds

Question 15
394060 bbgmEolL 4505396000 IMIM>MdOL OML Lbgwwols ygzgws

DooGowob:

Select one:

a. LoBdsMg s sBJotgds JOPBs0EMmOS
b. LoBdstg s sBJs®gds bbgowalbgss
C. boBdoMyg Lbgsslibgss

d. 5Bgdo9ds Lbgaolibgos

Question 16

7 — dL
dgo6o LBbgmeol 36b3000 IMmdOsMmO0L oMM ZobEHMMgdsdo M =G p

dotrx39bs dbotg 430839690 :

Select one:

a. 033mwbol dmdgb@ol 33wowgdol LoBJstqgls
b. 033mlol 33eomgdsls

C. ©HMmOb 33womgdsls


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BM%7D%3D%5Cfrac%7Bd%5Cvec%7BL%7D%7D%7Bdt%7D

~
d. 0939bol 3gerogdol LokJsgl

Question 17
Mobgzom 36093690mdqdl d9mbsdsdgm Lo@Y3096M0 ILELYEGd9d0:

10° d9BHco

Answer 1| oose

-2
10 83(’_’)5)0 Answer 2| Choose...

—6G
10 83(’_’)5)0 Answer 3| Choose...

—9
10 83(’_’)5)0 Answer 4| Choose...

—12
10 ag(ﬁﬁ)oAnswer 5| Choose...

-1
10 83@)6)0 Answer 6| Choose...

Led Lef Lef Ll Lol Led Lo

—3
10 83@)6)0 Answer 7| Choose...

Question 18
™G0 FMOHIMNOm odmomM3wgds 56456900l Lowoy .

Select one:
q. @ = Gz + Gy + Q.

2 2 2
p &= \/a-;: +a, + a;

. 2 D
" a=a, + a.y + a;

4.0 = /az +ay + a.

Question 19
39195053900 IMEHOOMEO FMIOIMOOL EHTIBILOSMYOJ BODO3IME

LOOYIOL BHMS9IBHMMO0L M99 FoME0wdo d0dsOHMIgd9d0:

6396300 )G0 5BFs605 5 [ c\var 1| Choose... -
29I YOWIOS Answer 2| Choose... |
LoBJs6rg Answer 3| Choose... |
Bea®Boor)®o sBJo®gd> A Lcwar 4| Choose... |
Question 20

FO950mBg 05650500 8MAMMBOL ©odsballomgdgo LoEoEJJd0s (dME0Ibgm
3 3sLvbo):

Select one or more:

a. 3960Mm©oO


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-6%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-9%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-12%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-1%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-3%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a%3Da_x%2Ba_y%2Ba_z
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a%3D%5Csqrt%7Ba%5E2_x%2Ba%5E2_y%2Ba%5E2_z%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a%3D%7Ba%5E2_x%2Ba%5E2_y%2Ba%5E2_z%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a%3D%5Csqrt%7Ba_x%2Ba_y%2Ba_z%7D
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1 O 0

b. dgolbo Lohdstn

C. 39obeo SBJoMgds
d. 3mobunco bobdsmy
€. POWISPAOWIdS

f. Lodwgoem LoBdsty

Question 21
HMI90 BeOINoOq0s FoMmdmoygbl boEmbols 30639 356mbL
(8cb0dbgom 2 3sLybo):

Select one or more:

a. O)UF % U, 85806 @ = ()

b. or)gjp' = (), 35806 @ = 0

c. o) F= U, 85306 V = const
d. or)gjp' = U, 60806557'é 0
Question 22

3m3AOMO0L 2o6EM@gds 45dmolobgds BmmINom ( P 560 033mebo,
m AsLs):

Select

0
o
0]

3T aR.5RR

n

Q

a o o

TR M TR T
.

3

=

Question 23

dm 39980 BMOIMEGO0ID, HMIgEo godmliobsgl dbmxaerom
30B0@)@™doL 356mBL (G 560l 33039300 34900035, M - ©gsdofols
Aolss)

Select one:

a.F:G%
o F = G2
c.F:GE_:
d.F=GI§Tm

Question 24


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%5Cne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BV%7D%3Dconst
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%5Cne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20P
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%5Cfrac%7Bdt%7D%7BdP%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%5Cfrac%7Bd%5Cvec%20P%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%5Cfrac%7Bdm%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3Dm%5Cfrac%7BdP%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=G
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BM%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BR%5E2%7D%7BmM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BR%5E2%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BMm%7D%7BR%5E2%7D

F 35¢wols 3096 § 350550 9d5Bg BgLO RO 8BomdS FoTMOMZERdS
RO

Select one:

a. A= F -dv
b. A = Fi

. A= %

4 dA = (F-d3)

Question 25
053009935000 35MQEBOL 5BJsgds 45FMOLObgds BMGOIMom:
Select one:ﬂr ;
a.9=0p
R
b.9 =Gor
R

9=
6.9 = 7
Question 26
3539050 H9OHEGH0wol 0339wlol dmdgb@ol

L=[rR
309mMBm3wge BMMHIMESdo roa ; 0997915053900 B0HB0OZME

LOOYIOL IBObg9dgdO:

L pnswer 1l cooe- E

—

7 Answer 2] choose- -]

K Answer 3l S0~ K

Question 27

899496037960 9696G300L 39EB0gMdOL (F9bsbgol) 3obmbo dmEgdmwos
259mbsbeamgdom (U 560l bbgreol bobdsy, 1t - Lodsmg):

Select one: ,
5. mgh + %5— = const

2
O b mh + m;" = const

© . mgh 4+ gv = const

e

. d_mgh—l— %5 = const

Question 28


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%7BF%7D%5Ccdot%7Bdv%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BA%7D%3D%7BF%7D%5Cvec%7Bv%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cfrac%7BF%7D%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA%3D%28%5Cvec%7BF%7D%5Ccdot%20d%5Cvec%7Bs%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3DG%5Cfrac%7BM%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3DG%5Cfrac%7BR%5E2%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3D%5Cfrac%7BR%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3D%5Cfrac%7BM%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20L%3D%5Cleft%20%5B%5Cvec%20r%5Ccdot%5Cvec%20K%5Cright%20%5D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20r
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20K
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=h
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh%2B%5Cfrac%7Bmv%5E2%7D%7B2%7D%3Dconst
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mh%2B%5Cfrac%7Bmv%5E2%7D%7B2%7D%3Dconst
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh%2Bgv%3Dconst
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh%2B%5Cfrac%7Bmv%7D%7B2%7D%3Dconst
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dgo60 BbgmEolb 255396000 FMmdMsMdOL JoMOMOIO FobEHMEgds Lbgmwol
AsLoms (€) 396¢HMOL J0dsMm BmEgdweos sdmbLabwyegdgdom (3mbodbgo 2
35Lvbo):

Select one or more:
—#

a. F' =t

b. F' = md,
a. F' = mffﬂi;
e. F' - mﬁr
Question 29

Ol MEOOL 53GHMIMdOOL JogM o3woo dsbdoro -S, mvy 0go
3d65mdL MULsHyoLe LoRJsM0m, MBIVBIMIBJsMgOMEs© 20 {3-ol
2960353mdsdo a=603/(0? sBJsMgd0m ( 39do BsfgMgom dbmemeo Hogbgo
8950090 LOBNLEBHOom, 059:1.2 ).

Answer:|

Question 30

9600 HOR0L 20LHzmo3 9MHMo J0TsOHMHI9gd0m FMIMSMOL MO SOOWENISWPO
OO, MHMIGEms AsLYdO GHME0s. 3060390 3OSl LoBJsMgs
548/%0, 3gmeg dOmweol boBdsegs 24 3/(0. oxsbgdol 8999y
0O 9d0 09mdM539096 LygHM BoBJs®0m, HMIOL Lo BHMEOs
(3980 BsfigOgom dbmenm@ Mogbgo, dsy. 1,23):

Answer:|

Question 31

163g3. 3s5Lob Lbgwmaro, HGmIgol LoBdsmgs 108/§0. gxsbgds 633. dsLob
MdM53 BBl O 9OMO© 530G gd96 BdMMdIL U LoBRJsM00. oxsbgds
5506935005, 03m39m U. (39wdo RsfgMgo dbmemo Gogbgo 895850l
LOBMLEGHOM. Fop:1.23)

Answer:|

Question 32

23 35L0bs o 0.59. ©05393MOL obzm dGwbsgl 20005@/(d. 3mbyeo
LoBdo®00. AslBg 0fygdl dmddggdsls Js8mbermFgdgero does, Greadeols
90g89@900L ©sfiygd0ab 8fsdol 99gy obzm ByMgds. 35bLsbmgmgm


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%20%5Cvec%20v_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3Dm%5Cvec%20a_c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3Dm%5Cfrac%7Bd%5Cvec%20r_c%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3Dm%5Cfrac%7Bd%5E2%5Cvec%20r_c%7D%7Bdt%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D%20m%5Cvec%20v_c

8537bOM 39090 dogol dmdgbEo. (39edo Bsfgmgom dbmemo Gogbgo
995b90L LOBMLEHOm. Foy:1.23)

Answer:l

Question £S

0339 Bbgbg dmddgo dogrs, mvg dslbg dmddgo doserols dmdgb@o
M=146.9., bm® dognols dbstro 1=33. ( 39edo BsfigMgo dbmemo Mogbgo
995b9oL LoBMLEHOm. doy: 1.23 )

Answer:l



